

$$\vec{b} + t\vec{c} = (b_1\vec{i} + b_2\vec{j} + b_3\vec{k}) + (c_1\vec{i} + c_2\vec{j} + c_3\vec{k})$$

$$= (b_1 + c_1)\vec{i} + (b_2 + c_2)\vec{j} + (b_3 + c_3)\vec{k}$$

$$a \times (\vec{b} + t\vec{c}) = \begin{vmatrix} \vec{i} & \vec{j} & \vec{k} \\ a_1 & a_2 & a_3 \\ b_1 + c_1 & b_2 + c_2 & b_3 + c_3 \end{vmatrix}$$

$$= \begin{vmatrix} \vec{i} & \vec{j} & \vec{k} \\ a_1 & a_2 & a_3 \\ b_1 & b_2 & b_3 \end{vmatrix} + \begin{vmatrix} \vec{i} & \vec{j} & \vec{k} \\ a_1 & a_2 & a_3 \\ c_1 & c_2 & c_3 \end{vmatrix}$$

$\therefore a \times (\vec{b} + t\vec{c}) = a \times \vec{b} + t a \times \vec{c}$  using (i) and (ii)  
Hence the theorem.

Prove that the vectors

$$\vec{a} = 4\vec{i} + 5\vec{j} + \vec{k}$$

$$\vec{b} = -\vec{j} - \vec{k}$$

$$\vec{c} = 5\vec{i} + 9\vec{j} + 4\vec{k} \text{ are Coplanar.}$$

**Solution:** We know that the vectors

$\vec{a}, \vec{b}, \vec{c}$  will be Coplanar if

$$[\vec{a} \vec{b} \vec{c}] = \begin{vmatrix} a_1 & a_2 & a_3 \\ b_1 & b_2 & b_3 \\ c_1 & c_2 & c_3 \end{vmatrix}$$

$$= \begin{vmatrix} 4 & 5 & 1 \\ 0 & -1 & -1 \\ 5 & 9 & 4 \end{vmatrix}$$

$$= 4 \times (-4 \times 9) + 5 \times (-5 - 0) + 1 \times (-40)$$

$$= 20 - 25 + 5 = 0$$

Hence given vectors are Coplanar.  
Dr. B. K. Singh  
Prof. Dept. of Maths, IIS RKS  
Varanasi

## Product of three or four vectors.

**THEOREM!** - A necessary and sufficient condition that the three non-parallel non-zero vectors  $\vec{a}, \vec{b}, \vec{c}$  be coplanar is  $[\vec{a} \vec{b} \vec{c}] = 0$ .

**proof!** - The condition is necessary: - To show that if three non-parallel, non-zero vectors  $\vec{a}, \vec{b}, \vec{c}$  are coplanar then their scalar triple product  $[\vec{a} \vec{b} \vec{c}] = 0$ .

Let the three vectors  $\vec{a}, \vec{b}, \vec{c}$  be coplanar. Now the cross product  $\vec{b} \times \vec{c}$  represents a vector perpendicular to the plane containing vector  $\vec{b} \times \vec{c}$ .

Also  $\vec{a}$  lies in the plane of  $\vec{b}$  &  $\vec{c}$  therefore  $\vec{b} \times \vec{c}$  is perpendicular to  $\vec{a}$  also and so the dot product of  $\vec{a}$  and  $\vec{b} \times \vec{c}$  or  $[\vec{a} \vec{b} \vec{c}]$  is zero.  $\therefore$  show that if  $[\vec{a} \vec{b} \vec{c}] = 0$  i.e. if  $[\vec{a} \vec{b} \vec{c}]$  is zero then  $[\vec{a} \vec{b} \vec{c}]$  are coplanar.

i.e. Let  $[\vec{a} \vec{b} \vec{c}] = 0$  i.e.  $\vec{a} \cdot (\vec{b} \times \vec{c}) = 0$ .

i.e. It implies that  $\vec{a}$  and  $\vec{b} \times \vec{c}$  are perpendicular to each other and so  $\vec{b} \times \vec{c}$  is perpendicular to  $\vec{a}$ , but  $\vec{b} \times \vec{c}$  is perpendicular to the plane containing the vector  $\vec{b}$  and  $\vec{c}$ .

**Sufficient:** **THEOREM!** - To prove that

$$\vec{a} \times (\vec{b} \times \vec{c}) = \vec{a} \times \vec{b} + \vec{a} \times \vec{c}$$

**proof!** - Let  $\vec{a} = a_1\vec{i} + a_2\vec{j} + a_3\vec{k}$

$$\vec{b} = b_1\vec{i} + b_2\vec{j} + b_3\vec{k}$$

$$\vec{c} = c_1\vec{i} + c_2\vec{j} + c_3\vec{k}$$

and

$$\therefore \vec{a} \times \vec{b} = \begin{vmatrix} \vec{i} & \vec{j} & \vec{k} \\ a_1 & a_2 & a_3 \\ b_1 & b_2 & b_3 \end{vmatrix} \quad \dots \dots \dots (i)$$

$$\vec{a} \times \vec{c} = \begin{vmatrix} \vec{i} & \vec{j} & \vec{k} \\ a_1 & a_2 & a_3 \\ c_1 & c_2 & c_3 \end{vmatrix} \quad \dots \dots \dots (ii)$$

of the ... of the ...

... of the ... of the ...

... of the ...

... of the ...

... of the ...

... of the ...

... of the ...

... of the ...

... of the ...

... of the ...

... of the ...

... of the ...

... of the ...

... of the ...

... of the ...

... of the ...

Th<sup>1</sup> Find the equation of normal to the curve  $\frac{r}{r'} = 1 + e \cos \theta$  at a given point  $\alpha$ .

Proof:- Let the eq<sup>n</sup> of the Conic be  $\frac{r}{r'} = 1 + e \cos \theta$   
 and  $\alpha$  be the vectorial angle of the pt. of Contact.  
 Now the eq<sup>n</sup> of the chord of the Conic through the  
 pts whose vectorial angles are  $\alpha + \beta$  and  $\alpha - \beta$  is

$$\frac{r}{r'} = e \cos \theta + \cos(\theta - \alpha) \text{ Sec } \beta \quad \text{--- (I)}$$

$\therefore$  the equation of tangent at pt  $\alpha$  is obtained

by putting  $\beta = 90^\circ$  in eq<sup>n</sup> (I)

$$\text{viz. } \frac{r}{r'} = e \cos \theta + \cos(\theta - \alpha) \quad \text{--- (II)}$$

Eq<sup>n</sup> of any line perp<sup>d</sup> to the tangent (II)  
 is of the form

$$\frac{\lambda}{r} = e \cos(\theta + \frac{\pi}{2}) + \cos(\theta + \frac{\pi}{2} - \alpha)$$

$$\Rightarrow \frac{\lambda}{r} = -e \sin \theta - \sin(\theta - \alpha) \quad \text{--- (III)}$$

This will be required equation of the  
 normal provided  $\lambda$  be so chosen that it will pass  
 through the pt. of Contact given by

$$\theta = \alpha \text{ and } \frac{r}{r'} = 1 + e \cos \theta$$

Hence we must have

$$\lambda (1 + e \cos \alpha) = -e \sin \alpha$$

$$\therefore \lambda = \frac{-e \sin \alpha}{1 + e \cos \alpha}$$

Putting the value of  $\lambda$  in (III) we get

$$\frac{1}{r} \frac{(-e \sin \alpha)}{1 + e \cos \alpha} = -[e \sin \theta + \sin(\theta - \alpha)]$$

$$\frac{r}{r'} \left[ \frac{e \sin \alpha}{1 + e \cos \alpha} \right] = e \sin \theta + \sin(\theta - \alpha)$$

which is the equation of normal  
 to the curve  $\frac{r}{r'} = 1 + e \cos \theta$   
 at pt.  $\alpha$

Dr. G.S. Rao  
 M.S.S. P.O., Dept. of  
 JNU, Hyderabad  
 500 046

EX-1. The normal at the point  $(at_1^2, 2at_1)$  meets the parabola  $y^2 = 4ax$  again in the point  $(at_2^2, 2at_2)$ .  
 Prove that  $t_2 = -t_1 - \frac{2}{t_1}$

Ans.

The eq<sup>n</sup> of the normal at the point  $(at_1^2, 2at_1)$  is

$$y = -t_1 x + 2at_1 + at_1^3$$

∵ the normal passes through the point  $(at_2^2, 2at_2)$

we have

$$2at_2 = -t_1 \cdot at_2^2 + 2at_1 + at_1^3$$

$$\Rightarrow 2a(t_1 - t_2) = a t_1 t_2^2 - at_1^3$$

$$= a t_1 (t_2^2 - t_1^2)$$

$$= a t_1 (t_2 + t_1)(t_2 - t_1)$$

$$\Rightarrow 2a \cancel{(t_1 - t_2)} = -a t_1 (t_1 + t_2) \cancel{(t_1 - t_2)}$$

$$\therefore 2a \cancel{=} -a t_1 (t_1 + t_2)$$

$$\text{i.p. } 2 = -t_1 (t_1 + t_2)$$

$$\therefore t_1 + t_2 = -\frac{2}{t_1}$$

$$\therefore t_2 = -t_1 - \frac{2}{t_1} \quad \underline{\underline{\text{proved.}}}$$

Dr. G S Mahto  
 Assoc. prof. Dept.  
 JNU KRS  
 18/